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SH: AN
2 OINE FHDIEH (MY - SAIILLUHUEXI/ &S &3}
Chelr REAIE S2INA (Shol: % 2)
SIA - BE - O9I(B) - NIRAIY - S Ofl b e HIR=2
OZEZ MSAIE X=3 SAHXE 384,049
OFE AFSAIE LEDAZE WH(XEH) 39,600
O&FH Ol2IZHAIE &4 L A 21222
&EH 39,600
O} MSAIE AMY TUZ B(HE) 234,864
AHESSIANE(Z1) 1,272,700 1,790,300 Ab517,600
= 979,000
T 293,700
403 XIS HMSAHE0IA 1,272,700 1,790,300 Ab517,600
= 979,000
= 293,700
01 REXIEHI A= 2 & 1,272,700 1,790,300 Ab517,600
oMHE A 1,272,700
= 979,000
& 293,700
FXEZEINEAME (R2)(=1) 10,036,120 6,847,265 3,188,855
ax 8,378,000
T 1,658,120
403 XtXISMSKHE01 A 10,036,120 6,847,265 3,188,855
= 8,378,000
= 1,658,120
01 RAXIHNA2EE 10,036,120 6,847,265 3,188,855
ONSAE F=XE HE 10,036,120
ras 8,378,000
= 1,658,120
FXEEINE AN (FAH) (=210) 179,000 179,000 0
= 179,000
308 AHXIHMSOIH 179,000 179,000 0
ras 179,000
01 AXSHNHBLEXRS 179,000 179,000 0
OFSANE FIE 082X 179,000
= 179,000
HSAE orE2te| X 1,579,228 1,546,416 32,812
308 AEXIHM SO & 1,579,228 1,546,416 32,812
01 IXSHHBNEXRS 1,579,228 1,546,416 32,812
OFSAIE SFMEE Ot 29,136
OFSAIE MM Ot 82,620
OFSAIE XIZ0I RIZAS 1,467,472
S ATAQI A2t} 37,500 20,600 16,900
202 O4H| 2,500 3,600 A1,100
01 =2LH0d ] 2,500 3,600 21,100
ONSAIE F23 MY F& 2,500
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SN ANTOID
B XEOkse H AB(AE=T/-S)
el NSIs3H 24z X (St &)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
N2obss ZH S (AEISK/=S) 1,684,571 8,966,390 A7,281,819
2 165,000
= 1,529,571
NEIHsTH 243t X 1,684,571 8,966,390 7,281,819
2 165,000
= 1,529,571
NEISAMEE 245t =2 815,371 672,000 143,371
307 2I20I F 815,371 672,000 143,371
EEEEE 815,371 672,000 143,371
OUAXIEIISTRAINLE 2 815,371
NEIISAMER |87 84,000 89,020 5,000
201 2Br2eyH| 9,000 8.220 780
o1 ARzl 9,000 8,220 760
OXNZIISTHES 2% L 22 23 9,000
202 01H 5,000 4,800 200
01 =LHoib| 5,000 4,800 200
OXNEIIsTH F& =7 5,000
403 XIXISHH SXHE0IH 70,000 76,000 26,000
01 XX S22 = 70,000 76,000 26,000
OB AL =1 A&l XIR 70,000
0E01e |4(=1) 182,000 297,700 A115,700
2 140,000
< 42,000
308 XIXIEHHISOIE 162,000 297,700 A115,700
2 140,000
= 42,000
01 IXISHBYBES 162,000 297,700 A115,700
ongIly §4 182,000
2 140,000
< 42,000
OISl |4 32,200 32,200
201 2Bt eyH| 8,000 8,000
o1 ARzl 8,000 8,000
onElIY HF 2 A2 8,000
202 01t 4,200 4,200
NENGE 4,200 4,200
onElIY §F 2 NEEL 4,200
308 XXISHH SO/ 20,000 20,000
01 IXISHBYBES 20,000 20,000
O NHINSIIY S 20,000
BSxe 245 X2 36,000 42,000 26,000
307 2120l F 36,000 42,000 26,000
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3 NUSotset A g (MSA/ =S)
el NSIs3H 24z X (St &)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
02 2IHBHAIHE £ 36,000 42,000 26,000
Ogsxs 243t N2 36,000
OS01g |4 A4E S NS (HEAY) 520,000 520,000
307 el2to| & 520,000 520,000
02 2B YAIHE A 520,000 520,000
onr2J1g |4 ALE S N (&) 520,000
XSAtel 435t D18t ZH(=1) 15,000 410,000 395,000
[ 15,000
308 AXIMSOIA 15,000 10,000 5,000
= 15,000
01 RSN EES 15,000 10,000 5,000
OXIS A2l SEAat & TAIAS 15,000
= 15,000
JEUSEMAE 4358 FE(SELNAMNL/XAHLEAI) 543,746 593,450 N49,704
NP IR 225! 543,746 593,450 A49,704
HEA OlS3SH 2tED] 262,800 314,800 A52,000
201 Ler23 | 8,000 10,000 22,000
01 At2teltl 8,000 10,000 A2,000
OlI=ESHAME 23X S 8,000
202 04| 1,800 1,800
01 =LA 1,800 1,800
Oll=EsSHMAME ZE=a 1,800
308 AFAIEHMSOIE 253,000 303,000 /50,000
01 HXSHH B EES 250,000 300,000 /50,000
Olt=SSH ArgHl XI& 250,000
18 SIS0t & HAS A 3,000 3,000 0
Olt=SSH AN2AY HEER 3,000
Oi=ssH NddH 29 280,946 278,650 2,2%
307 gl2to| & 280,946 278,650 2,2%
05 212+ =S 280,946 278,650 2,29%6
Olt=&sHM XN3HH 29 280,946
HY2AIH(AaSI) (DIEH/DIE 24,071 30,902 6,831
Jl=3H| 24,071 30,902 26,831
2A29 J1=3l 24,071 30,902 26,831
201 Ler23| 16,095 21,222 Ab, 167
01 At2teltl 16,095 21,222 N5, 167
A2 AR2tel] 16,055
202 04| 5,016 6,080 1,064
01 =LA 5,016 6,080 1,064
FAEE =W 5,016
203 =] 3,000 3,600 A600
M EASHLRFAH 3,000 3,600 2600
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